Specific Identification

Assume, for example, that Fraser Valley Electronics buys three identical LCD TVs at costs of $700, $750, and $800. During the year, two are sold at a selling price of $1,200 each. At December 31, the company determines that the $750 LCD TV is still on hand.

What is the cost of goods sold and value of ending inventory?

Cost Flow Assumptions
For example, assume that throughout the calendar year Fraser Valley Electronics buys at different prices 1,000 Astro Condenser units for resale. Some Astro Condensers cost $10 when they were originally purchased in the previous year. Units purchased in April cost $11, those purchased in August cost $12, and those acquired in November cost $13. Now suppose Fraser Valley Electronics has 450 Astro Condensers remaining in inventory at the end of December. Should these inventory items be assigned a cost of $10, $11, $12, $13, or some combination of all four?

To illustrate these three inventory cost flow assumptions in a periodic inventory system, we will assume that Fraser Valley Electronics has the following information for one of its products, a Z202 Astro Condenser: 
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Jan 1 Beginning inventory 100 $10 $ 1,000
Ap.15  Purchase 200 i 2,200
Aug 24 Purchase 300 12 3,600
Nov.27  Purchase 400 13 200

Total 000
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The company had a total of 1,000 units available for sale during the year. The total cost of the 1,000 units available for sale was $12,000. A physical inventory count at the end of the year determined that 450 units remained on hand. Consequently, it can be calculated that 550 (1,000 − 450) units were sold during the year.

The question to be answered next is this: Which unit costs should be allocated to the 450 units remaining in ending inventory so that we can calculate the cost of the ending inventory? Once we have calculated the cost of the ending inventory, we can then use this information to calculate the cost of the goods sold.

The answer to the question depends on which inventory cost flow assumption is being used by a company. In our example, the total cost (or “pool of costs”) of the 1,000 units available for sale is $12,000. We will now demonstrate the allocation of this pool of costs using the three cost flow assumptions—FIFO, average cost, and LIFO—in the next sections.

Note that, throughout these sections, the total cost of goods available for sale will remain the same for each inventory cost flow assumption. The pool of costs does not change with the choice of cost flow assumption—what changes is the allocation of these costs between the ending inventory and the cost of goods sold. 
Determine the COGS and Ending Inventory using the following methods:

FIFO – COGS

FIFO – Ending Inventory

Average Cost – COGS

Average Cost – Ending Inventory

LIFO – COGS

FIFO – Ending Inventory
